

Subject :

مکانیکی

Year.

Month.

Date. ( )

☆☆☆ A140

(جواب ہے)

$$\textcircled{1} \lim_{n \rightarrow \infty} \frac{a_n - \infty}{a_n^r + a_n + b} = -\infty$$

(+ ۰) موارد  $\rightarrow (a-r) = a - \frac{r}{a} \sqrt{a} + \frac{r}{b}$   $a+b=0$

$$\textcircled{2} \lim_{n \rightarrow \infty} \frac{a}{a^r + a^r + b} = +\infty$$

(+ ۱)  $\rightarrow (a - \sqrt{r}) = a - \frac{r}{a} \sqrt{a} + \frac{r}{b}$   $\left[ \frac{b}{a} \right] = \left[ \frac{1}{r} \sqrt{r} \right]$

$$\textcircled{3} \lim_{n \rightarrow \infty} \frac{[-n] + a}{\left[ \frac{1}{r} \right] + a} = -1$$

$\rightarrow a-1 < 0 \rightarrow a < 1$ ,  $\left| \frac{1}{r} + a \right| > a$ ,  $\left| \frac{1}{r} + a \right| = -a \rightarrow a > -\frac{1}{r} \Rightarrow a = -\frac{1}{r}$

$$\textcircled{4} \lim_{n \rightarrow (-\infty)^+} \frac{14n - \left( -\frac{r}{a} \right)^{r-9}}{r \epsilon n + \left[ \frac{r}{a} \right]^{r-9}} = \frac{-\infty + 9}{-\infty + 12} = \frac{9}{12}$$

$$\textcircled{5} \lim_{n \rightarrow r^+} \frac{a^r - \epsilon}{a^r - [a^r]} = \frac{(a-r)}{(a-r)(a^r + a^r + r)} = \frac{1}{r+1} \quad \text{X} \quad \frac{1}{r+1} = \frac{1}{r}$$

$$\textcircled{6} \lim_{n \rightarrow -\infty} \frac{a^r + 10a + 14}{14 + 9\sqrt{r}} \rightarrow \frac{(a+1)(a+r)}{9(\sqrt{r}+1)} = \frac{r \times \epsilon \times (-9)}{9} = -12$$

$$\textcircled{7} \lim_{n \rightarrow 0} \frac{\sqrt{1+r}a - \sqrt{1-a}}{\sqrt{1-2a}} \times \frac{\sqrt{1+ca} + \sqrt{1-a}}{\sqrt{1+ca} + \sqrt{1-a}} \times \frac{1+ca - r + a}{r\sqrt{r} \times -\frac{a}{\sqrt{r}}} = \frac{\epsilon a}{-r a} = -1$$

$$\textcircled{8} \lim_{n \rightarrow \infty} \frac{K + \cos(\sqrt{a}n)}{K a^r} = \mu \rightarrow \frac{K + 1 - \frac{a n^r}{r}}{K a^r} = \frac{r K + r - a n^r}{r K a^r} = \mu$$

$\rightarrow r K + r = \mu \rightarrow K = \frac{\mu}{r-1} = \frac{4}{-1} = -4$

$$\textcircled{9} \lim_{n \rightarrow \infty} \frac{\sqrt{a^r - a^r a^r}}{\sqrt{a^r - a^r a^r}} + \frac{a^r (\sqrt{a} - \sqrt{a^r})}{\sqrt{a^r - a^r a^r}} \Rightarrow \frac{\epsilon a + \sqrt{a^r - a^r}}{a \sqrt{a^r - a^r}} = \frac{\mu}{\sqrt{4a}}$$

$\frac{4a \times \sqrt{a^r - a^r} \times \sqrt{a^r + a^r}}{4a}$

Subject :

مکانیکی

عمر بورصیری

Year. Month. Date. ( )

10)  $\lim_{n \rightarrow (-1)^+} \frac{1 - K[n]}{n^r - 1} = -\infty$

$\frac{1^+}{0^-} \Rightarrow \frac{1+K}{0^-} = -\infty \Rightarrow 1+K > 0 \Rightarrow K > -1$

$\frac{1^-}{0^+} \Rightarrow \frac{1+K}{0^+} = -\infty \Rightarrow 1+K < 0 \Rightarrow K < -1$

$\left\{ -1 < K < -\frac{1}{r} \right.$

$$n > -\frac{1}{r} \rightarrow n^r < \frac{1}{r} \rightarrow \frac{1}{n^r} > r \rightarrow \frac{n}{n^r} > 1 \Rightarrow \left[ \frac{n}{n^r} \right] = 1 \quad 4$$

$$\lim_{n \rightarrow (-\frac{1}{r})^+} \frac{14n + 9}{n^r n + 1} = \frac{-1 + 9}{-1^r + 1} = \frac{8}{0^+} = +\infty$$

$\hookrightarrow -\frac{r}{n^r} < -1 \Rightarrow \left[ -\frac{r}{n^r} \right] = -1$

$$\lim_{n \rightarrow r^+} \frac{n^r - r}{n^r - 1} = \frac{(n-r)(n+r)}{(n-r)(n^r + n + r)} = \lim_{n \rightarrow r^+} \frac{n+r}{n^r + n + r} = \frac{r}{1^r} = \frac{1}{r} \quad 5$$